Name:

Problem 1

Polynomial function Polynomial Equation

3 3

flx)=16-x"+42 16-x7+2=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Special Practice Period

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 2

Polynomial function Polynomial Equation

2 2

f(x)=50-8-x 50-8-x7=0

State the number of roots this polynomial
MUST have

statey intercept ___

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

5([},2)

( "';5‘_"}_1(_)-_2 : X

11.96 |

completely factored form of the polynomial

211 02 255

16 x 3 +2=0

GCF=___

Solutions

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

89.65

=

(-2.5,0) 5 (25.0)

-26.65

completely factored form of the polynomial

537 [ s 0\ 448

50-8-x ==0
GCF=___

Solutions

10f8



Name:

Problem 3

Polynomial function Polynomial Equation
F(x) =8+ x2—40- x50 -8 x2—40- x-50=0

State the number of roots this polynomial
MUST have ___

state y intercept ____
As X —=e f(x) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

Problem 4

Polynomial function Polynomial Equation

3

f(x)=25[}-x3 16 250-x 16=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

Special Practice Period

completely factored form of the polynomial

20.83 1y 8- x 2-40-x-50=0
(25.0) 5 GCF=___
-6.29 0.5 3.45
(0,50)
-72.5
completely factored form of the polynomial
Solutions
2032 1y 250-x > ~16-0
GCF=___
51 [(0.4,0) X
-5.83 0.5 3.92
(0,-16)
-79.74

Solutions

20f8



Name:

Problem 5
Polynomial function Polynomial Equation
f(x)=8-50-x 2 8-50-x2=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has only positive solutions

has only negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 6

Special Practice Period

Polynomial function Polynomial Equation
F(x)=27- x2+ 36 x+12 27-x2 436 x+12=0

State the number of roots this polynomial
MUST have

state y intercept ____
As X —=e f(x) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

completely factored form of the polynomial

14.611y 8-50-x 2=0
GCF=___
(0.8)
(-0.4,0)] 1 (0.40)
-2.04 N 1.39
-9.11
completely factored form of the polynomial
Solutions
16.38 {» 27-x 2 +36-x+12=0
t(0.12) GCF=___
5.45 (-0.667,0) [0-5 4.3
7.34 ]

Solutions

3of 8



Name:

Special

Problem 7

Polynomial function Polynomial Equation
3 3

Mark all that apply

fix)="54-x 7 ~16 54-x 2 -16=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 8

_____________________________
Polynomial function Polynomial Equation

3 3

f(x)=5-x~-320 5-x7=320=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

Practice Period

1

100 | (4.,0) / .
B

-8.98 8.88

(0,-320) |

535

completely factored form of the polynomial

y
31.29 1y 54-x 3-16=0
GCF=___
(0.667.0)| 2 X
-4.84 0.5 3.53
(0,-16)
-40.71
completely factored form of the polynomial
Solutions
1145 ) 5 x3-320=0
GCF=___

Solutions

4 of 8



Name:

Problem 9
Polynomial function Polynomial Equation
f(x)="128-x 32 128-x 3-2-0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 10

Polynomial function

f(x)=-48x 2-120-x-75

Polynomial Equation

48 x 2120+ x-75-0

State the number of roots this polynomial
MUST have _

state y intercept _____

As X —— fix) —__

As X —teo fix) —_

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

Special Practice Period

-165.23 |

5.61 0.5 2.86

completely factored form of the polynomial

8.471y 128-x 3-2=0
GCF=_____
1
e l0230) L X
-1.55 k 1 1.55
(0,2)
-7
completely factored form of the polynomial
Solutions
144.92 1y 48-x 2-120-x-75=0
GCF=_____
(-1.25,0) ot .

Solutions

5of 8



Name:

Problem 11
Polynomial function Polynomial Equation
f()=5000-x >-40  5000-x >-40=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 12

Polynomial function Polynomial Equation

2 2

f(x)=147-48-x 147-48-x==0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

Mark all that apply

has GCF (greatest common factor)
is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)

is DOTC (difference of two cubes)
is a multiple of one of the above
cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O OO0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

Special Practice Period

53.74 |y 5000-x 2 -40=0
GCF=_____
10
(0.2,0)
-0.75 0.05 0.55
(0,-40)
195.49
completely factored form of the polynomial
Solutions
-
23581y 147-48-x 2=0

(-1.75,0) 20 X
-3.32

-369

completely factored form of the polynomial

GCF=___

Solutions

6 of 8



Name:

Special

Problem 13

Polynomial function

f(x)=54-1024-x >

Polynomial Equation

3

54-1024-x ~=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

OO0 O O0O0OO0OOOOOO

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

can be factored

is a multiple of one of the above

Practice Period

—

121.5 |y

(0,54)

10 (0.375,0) .

has positive solutions

has negative solutions

has both positive and negative
solutions

0.97

-46.5

has zero as a solution

has imaginary solutions

has irrational solutions

completely factored form of the polynomial

54-1024-x 3

GCF=___

=0

Solutions

Problem 14

Polynomial function

f(x)="T5-x 2+60-x-12

75-x 2460+ x-12=0

Polynomial Equation

State the number of roots this polynomial
MUST have ___

state y intercept ____
AS X —=e flx) —__
As X —+e f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

OO0 O O0O0OO0OOOOOO

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

14.74 1y

(0.4,0)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

has irrational solutions

-0.53 0.1

(0,-12)

102/ \

FACTOR CARDS Special polynomials.tns

completely factored form of the polynomial

75-x 24+60-x-12=0

GCF=___

Solutions




Name:

Special

Problem 15
Polynomial function Polynomial Equation
f)=108x >-500  108-x > -500=0

State the number of roots this polynomial
MUST have __

state y intercept

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

Problem 16
Polynomial function Polynomial Equation
f(x)=27-75-x 2 27-75-x 2=0

State the number of roots this polynomial
MUST have

state y intercept _____

As X ——o f(x) —__

As X =t f(x) —__

Completely factor and solve the given
polynomial equation

T |
Mark all that apply

has GCF (greatest common factor)

is PST (perfect square trinomial)

is DOTS (difference of two squares)
is SOTC (sum of two cubes)
is DOTC (difference of two cubes)

is a multiple of one of the above

cannot be factored

has positive solutions

has negative solutions

has both positive and negative
solutions

has zero as a solution

has imaginary solutions

OO0 O O0O0OO0OOOOOO

has irrational solutions

FACTOR CARDS Special polynomials.tns

Practice Period

completely factored form of the polynomial

1482.35 |y 108-x 2 ~500-0
GCF=___
100 (1.67,0) X
-7.29 j 7.29
0,-500)
-1482.35
completely factored form of the polynomial
Solutions
P ——————————————————
35.07 o 27-75-x 2=0
(0,27)] GCF=____
21 (0.6,0)
-1.45 (-0.6,0) 1.16
9,73

Solutions

8 of 8
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